NCERT EXEMPLAR 400 QUESTIONS - SET 4

Q.60. The process by which Amoeba obtains food is called /ag JfehaT for TS CAaRT 37HET
HISTeT UTCd Il %3’@ $ad %[NCERT Exemplar]

(a) phagocytosis/BRIATSCI AT

(b) assimilation/3TcHATT

(¢) diffusion/JHN

(d) absorption/31d QIoT

Q.61. Which of the following is not a digestive enzyme contained in the pancreatic

juice?/TAFATATRT H & it AT 3TRRIT TH H 9T STel dTell YTdeh USISH el 67

(i) Lipase /eIT8UST (ii) Hydrochloric acid/gT83IeFalliXeh ©fa3 (iii) Mucus [FHH (iv) Trypsin
/fefSFeT [NCERT Exemplar]

(a) (1) and (i1)

(b) (1) and (iv)

(¢) (ii) and (iii)

(d) (1) and (iii)

Q.62. The enzymes pepsin and trypsin are secreted respectively by /ATcqeT 3R feTtHeT
USATSH shAL: [hEd ¢aRT A1idd g1 &2 [NCERT Exemplar]

(a) stomach and pancreas/9¢ 31 33ITR—T

(b) salivary gland and stomach/aTR 3T 3R 9T

(c) liver and pancreas/Jehd 3R 3P

(d) liver and salivary gland/Jebd IRAIR T

Q 63. Among the following choose the correct option which includes the organisms that have
a holozoic mode of nutrition:

fArfafad & @ @€ fasheq It fSwd 9 Sha enfder gt foierst qiwor 6 grelisiige fafer
Bﬁ?ﬁ %’: [NCERT Exemplar]

(a) Paramecium and Amoeba/SRTHTRA™E 3 3r#TaT

(b) Parakeet and Amoeba/didr 3 37&TaT

(¢) Paramecium and Plasmodium/SRTEHTIIH 3R careaAis s

(d) Paramecium and Parasite/SRMHI T 3R WRrase

Q.64. Raw materials required in the autotrophic mode of nutrition involves:

gIYoT hr TN TI8T 3 3TaeTe hed ATl H QMTH 6: [NCERT Exemplar]

(i) Carbon dioxide and water/&TeleT SIS3TFATSS 3R =T (ii) Chlorophyll/FARIT (iii)
Nitrogen [ATSEISTT (iv) Sunlight/'\‘:l‘:é' <l JhIRA

(a) (i), (ii) and (iii)
(b) (i) and (ii)
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(¢) (1), (i1) and (iv)

(d) All (i), (i1), (iii) and (iv)

Q.65. The enzymes in pancreatic juice help in the digestion of:- 3T I H FﬁEj\?{
USITSH fohdeh UTdel H GG id &7 [NCERT Exemplar]

(a) fats and carbohydrates/ddT 3iR clnlcffsls;%c

(b) proteins and fats/9TEIeT 3R aaT

(c) proteins and carbohydrates/9TEleT 31X EFI?f%‘IB?E’

(d) proteins, fats and carbohydrates/JTeleT, AT 3R FIEEIS3T

Q.66. Which of the following help in protecting the inner lining of the stomach from the

harmful effect of hydrochloric acid?/fA=f@adasilaar a@a@ﬁ? tAs &
gTfeTehReh THTT A UT I TARH I I 8T el H HGG il 82 [NCERT Exemplar]
(a) Mucus/deldTH
(b) Pepsin/ATcqeT
(¢) Trypsin/feicgeT
(d) Bile/fOa
e The Mucus in the stomach is released by mucoid cells, also known as mucous cells or
surface mucous cells or surface mucus cells (foveolar cells) are mucus-producing
cells that primarily line the gastric mucosa.
e The secreted mucus acts as a barrier to the corrosive nature of the gastric acid.

o UT H TolITH FYhI$3 HIRATT SIRT AT BT 8, Tolee LeISHT HIfABTT AT HAET
QISHT ITRAHIT AT TART ToTITH HIRABTV (PIaTeR HIFARTT) 3 FgT ST S, A
SOlTH STl aTell RNV ¢ ST HET T & ITEEeh FYhIAT bl TSl il & |

o HIidd oA 31TEeh TS Sl HaTReh Tehid o felT Teh STerm o §9 & i el o |

Q.67. Sometimes we get painful cramps in our leg muscles after running for a long time due

to the accumulation of/&$-H#Y ST TAT dh G131 o S1G, gAY URT hT ATHUTAIT H GSoTTeh
UaeT @?ﬁ %, gt dROT [NCERT Exemplar]

(a) hydrochloric acid/gT8gIFell e TRAS

(b) fat/adr

(¢) carbon dioxide/aTeeT SBATFATSS

(d) lactic acid/oiTeeen TIAS

Q.68. The vein which brings clean blood from the lungs into the heart is known as /ag TRT
Sl hhel ¥ TATS I0°d ol g6 H olldl ¢, 39 FIT Hhgd 82 [NCERT Exemplar]
(a) pulmonary vein/W?T EIR
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(b) hepatic vein/Zehe RIT
(c) superior vena cava/3s& JeT rdT
(d) pulmonary artery/gFCquw_\’:h'J HAT

Q.69. Movement of the synthesized products from the leaves to the roots and other parts of a
plant’s body takes place through the phloem. This process is known as 2/&2el T ScqTGT T

afaar & STt 3R Gl & RN o 313 1911 TTeh FATATAOT FellUH o ATEIH gl o | 56
gfehaT &l 4T Fed 6?7 [NCERT Exemplar]

(a) translocation/EATeATeT0T

(b) transpiration/aqu)chG‘lﬂ'

(c) transportation/IRdgsT

(d) excretion/3cHaieT

Q.70. During deficiency of oxygen in tissues of human beings, pyruvic acid is converted into

lactic acid in the ?/FTST & SicTehl H TSI i el & NI, UISTTdeH TS AfFesh
tfas # gRafda ET SIGL %’7 [NCERT Exemplar]

(a) cytoplasm/TTSCICATEH

(b) chloroplast/m‘ﬂm

(¢) mitochondria/HATSEIhTTegaT

(d) golgi body/3TTeail dTaT

Q.71. Plants use the energy stored in ATP to accomplish the process of transportation of?

/AT T H AT Sl 1 3T foraeh aRageT hr Gfshar ahl g1 et & fow aa 82
[NCERT Exemplar]
(a) water and minerals/9Teir 3R @fieT

(b) oxygen/}ﬁﬁ@\_ﬂ?{
(¢) water, minerals and food/dT=iT, Wister 3R e
(d) food/#TSTeT

Q.72 Which element is used in the synthesis of proteins?/SIETeT & TLAYUT H fohd Tcd T
39T fohdT ST 82 [NCERT Exemplar]

(a) Hydrogen/gT3gIotel

(b) Oxygen/m\_ﬂ?r

(¢) Nitrogen/aITSerolel

(d) Carbon dioxide/aTeel SIS TFETSS
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Q.73. Temporary finger like extensions on Amoeba are called?/3THIET U FEATAT 33Tl o1&
faTdR &I FaT Fgd 52 [NCERT Exemplar]

(a) cell membrane/aI T ool

(b) cell wall/aITRreRT TR

(c) pseudopodia/@@ﬂﬁm

(d) cilia/faferr

Q.74. From the given picture of the digestive system, identify the part labelled as gastric
gland.

qrae a7 & e 10 Ry & e 72 s 1197 i ggaret FIfSw| [NCERT Exemplar]
(a) A
(b) B
(c)C
(d)D

Q.75 Which among the following is necessary to carry out the blood coagulation in a cut or

wound?/fEY 919 T Fhe H T&d HT STHTT T & [l AFATITET H & 37 37192T 82
[NCERT Exemplar]
(a) White blood cells/2ad Ik hITRARIT

(b) Blood plasma/IFd TelToHT
(c) Platelets/ColcolcH
(d) Red blood cells/dITeT T&Fd HITARIT
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Q.76. In which mode of nutrition an organism derives its food from the body of another
living organism without killing it? /ATSOT T foh g faer & tes Siig E;H'l’ Sha & AR fo=T
38 R T 39T HISTT 1o T 6?2 [NCERT Exemplar]

(a) Saprotrophic nutrition/ﬂ?l'cﬂ"ﬁ qryor

(b) Parasitic nutrition/IISiIdY GryoT

(¢) Holozoic nutrition/glelioliSeh GIyoT

(d) Autotrophic nutrition/TaGTsY qryoT

Q.77. Roots of the plants absorb water from the soil through the process of ?/dTeIT ST 578
A O ureit i fora gfsham & AregeT & 3@ fd T §2[NCERT Exemplar]

(a) diffusion/JHT

(b) transpiration/aqu)chG‘lﬂ'

(¢) osmosis/IITHIUT

(d) none of these/3A3 & PIg AR

Q.78. The site of photosynthesis in the cells of a leaf is 2/ ST SITARTI H ThTT HLTOT
T TATT §2 [NCERT Exemplar]

(a) chloroplast/FelRITATES

(b) mitochondria/ATSeIhI 5T

(c) cytoplasm/HTSCICATSH

(d) protoplasm/STeICelT=aT

Q.79. A blood vessel which pumps the blood from the heart to the entire body is called ?/dg
WHT%WEITW@'CB' R H & 99 Al &, 3Y FIT Hhgd g7 [NCERT Exemplar]
(a) artery/€TH=AT

(b) capillary/ahfreT

(c) vein/IRRT

(d) haemoglobin/grAI el faleT

Q.80. Name a circulatory fluid in the human body other than blood. /HTed R F I&Fd
37TaT fohdT 31T IREIRY g T ATH 8T |[NCERT Exemplar]

(a) Platelets/‘fc-lﬂﬁ?[\q

(b) RBC/3TRETEY

(c) Lymph/feiF®

(d) Plasma/CeITsHAT



